EXERCISE 30

1. Write the answers.

2 + 2 + 2 =

3 twos =

3+ 3 + 3 + 3 =

3 fours =




2. Complete the drawings. Then write the answers.
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2 threes =

4 twos =

3 fives =

2 fours =
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EXERCISE 31
1. Fill in the blanks.

()

(b)

()

A
There are pencils in each group.
There are pencils altogether.
There are cakes in each group.
There are cakes altogether.
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There are carrots in each group.

There are carrots altogether.
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2. Complete the drawings. Then fill in the blanks.
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There are 2 fish in each tank.

Thereare __fish altogether.

There are 3 apples in each bowl.

There are apples altogether.

| B

There are 4 buttons on each dress.

Thereare ___ buttons altogether.

(d)

There are 5 flowers on each towel.

Thereare __ flowers altogether.
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EXERCISE 32
1. Fill in the blanks.

(@)

(b)

(c)

(d)

0 6 ) D

There are groups of 5.
There are peppers altogether.
There are groups of 6.
There are buttons altogether

There are 5 groups of

There are flowers altogether.

@%aﬁ@%\%aﬁ@ﬁ@\%

There are 6 groups of

There are leaves altogether.
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& (9) Draw 5 () in each circle.

OO O

3 groups of 5 =

®) | Draw 3 @ in each triangle.

4 groups of 3 =

(c) Draw 4 ﬁ in each square.

2 groups of 4 =

(d) | Draw 2 (% in each rectangle

5 groups of 2 =
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